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1 | FEgE 16 16 0.0050 [BG: 0.0005 mSv/h
2 R TRLEE 32 32 0.0080 [BG: 0.0005 mSv/h
2818 | 3 Ry 16 16 0.0012  [BG: 0.0005 mSv/h
4 R 16 16 0.0010 [BG: 0.0005 mSv/h
5 (G092 16 16 0.0008 {BG: 0.0005 mSv/h
1 [0 16 16 0.0090 [BG: 0.0004 mSv/h
2B9R 2 5578 16 16 0.0090 [BG: 0.0004 mSv/h
3 AR 16 16 0.0007 |BG: 0.0004 mSv/h
4 FrisEE 16 16 0.0008 [BG: 0.0004 mSv/h
1 BT 20 20 0.0008 [BG: 0.0004 mSv/h
9i3E 2 .33 20 20 0.0012  [BG: 0.0004 mSv/h
3 BT 20 20 0.0011 [BG: 0.0004 mSv/h
4 RTJERRE 20 20 0.0012  [BG: 0,0004 mSv/h
. 1 RrEE 20 20 0.0011 [BG: 0.0005 mSv/h
2H4R8 | 2 B 20 20 0.0012 |BG: 0.0005 mSv/h
3 [ 3 20 20 0.0014 {BG: 0.0005 mSv/h
1 Bk 20 20 0.0005 [BG: 0.0004 mSv/h
9ATH 2 BrR 20 20 0.0009 [BG: 0.0004 mSv/h
: 3 RPRLE 20 20 0.0014 [BG: 0.0004 mSv/h
4 JrEEEE 20 20 0.0018 [BG: 0.0004 mSv/h
1 BRE 20 20 0.0012 [BG: 0.0005 mSv/h
2R9R [ 2 5012 20 20 0.0008  [BG: 0.0004 mSv/h
' 3 Ry 20 20 0.0009 {BG: 0.0004 mSv/h
1 Ry 20 20 0.0015 [BG: 0.0005 mSv/h
25168 | 2 RTIBEE 20 20 0.0010 [BG: 0.0005 mSv/h
3 BT 20 20 0.0010 [BG: 0.0005 mSv/h
1 BB 20 20 0.0010 [BG: 0.0005 mSv/h]
2188 | 2 | EEE 20 20 0.0010 [BG: 0.0005 mSv/h
3 Ryt 20 20 0.0012 IBG: 0.0005 mSv/h
1 [ 13 20 20 0.0009 " [BG: 0.0005 mSv/h
28218 | 2 RrJEEE 20 20 0.0011 [BG: 0.0005 mSv/h
3 By 20 20 0.0008 1BG: 0.0005 mSv/h
1 RTRE 20 20 0..0009 [BG: 0.0005 mSv/h
2H228 [ 2 BT 20 20 0.0008 {BG: 0.0005 mSv/h
3 HrREE 20 20 0.0007 [BG: 0.0005 mSv/h
1 B 20 20 0.0007 [BG: 0.0004 mSv/h
9 H24H 2 BT 20 20 0.0010 |BG: 0.0004 mSv/h
3 Ry 20 20 0.0008 |BG: 0.0004 mSv/h
4 e A 20 20 0.0008 [BG: 0.0004 mSv/h
1 BT 20 20 0.0010  |BG: 0.0005 mSv/h
28250 | 2 HTTRRE 20 20 0.0007 {BG: 0.0005 mSv/h
3 BrRE. 20 20 0.0010 [BG: 0.0005 mSv/h
] BG: mSv/h

B 160 660 820
FERERE 96 | 3,458 7,140 424 [11,118




